CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2021
Roll No. SET : A

T

GEOGRAPHY
HT-1
PART -1
(sTrfs o)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

ge-o & AF & Rl R A (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qur qE-1L % e ol @ uw €2 @ Wy A Sen srafg wher we
BN T geT qd qdemel St w11 & g9eE-us Rar smem

-1 % 999-99 § F 10 U T 9FHII & T¥-T § FA 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B AL % 5 9799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.

5613/(Set : A)/ | P.T.O.




(2) 5613/(Set : A)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5613/(Set : A)/ |



(3) 5613/(Set : A)

1. T F1 8 7 2

What is Tourism ?

2. ‘T fog afcar @ g ? 2

What are 'wet point settlements' ?

3. e gfs X fRY @Fed § 7 2

What is growth rate of population ?

4. Hqq N9NT [AHE H GHeIT Bl RN B 2

Define the concept of sustainable development.

5. HMG & IRBiehol &l AT Hifs| 3

Explain Naturalization of Humans.

6. IRd & [ Toat H fasna amior SHEEn ® 7 ganl fasne I SeEe & e Saet
0% HRI A [y 3

Which States have large rural population in India ? Give one reason for such
large rural population.

7. IRET TR F1 B4 & ? 9 91 HE S B 7 3

What are Garrison towns ? What is their function ?

8. TREHE o1 1 8 ? ARG & W ANNDE Foll dal B AW | 3

What is Nuclear Power ? Mention the important nuclear power stations in
India.

5613/(Set : A)/ | P.T.O.



(4) 5613/(Set : A)

9. Siichehid THHY TG bl 7 FTESAT il fe=r i 5
Describe three stages of Demographic Transition Theory ?
SEE|
OR
ue famE & gre Wl H IaTeXOl |ied davie it

Describe the four Pillars of Human Development with examples ?

10. ¥R &l SFGE 89 B ToI-T09 [Iuer #3 5

Analyse State-wise population density of India.

G
OR
qRd & A= 1 aRart & Arifers foaeer & fqewer dfsm

Describe the geographical distribution of different language families in India.

5613/(Set : A)/ |



CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2021

Roll No. SET : A

T

GEOGRAPHY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ol A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT TG F T [ G F 3 Je7-9 § FRT §T 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 §U T 7el 8, YT F YU 39
T 7 g o qar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aart &

All questions are compulsory.

5613/(Set : A)/ II P.T.O.



(2) 5613/(Set : A)

(i) o7 F@T 1 & 23 7% FGABHAT F97 81 RT T AT T § @ g% @l Fav g

797 GEr 24 G 30 7% aegiTS Fo7 81 J9% # AT GF AT & A= T AF H
dforg1 9% 797 1 3% T 81 §el FAT AU Fae-gréaw 4 [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in
your answer-book.

1. Frfafed § & &9-91 999 0 & ST 787 & ¢ 1
(A) &= A (B) HETH® I
(C) wnis e (D) 3TN &R Ui
Which one of the following is not an approach in Human Geography ?
(A) Areal differentiation (B) Quantitative revolution
(C) Spatial organization (D) Exploration and description
2. e Ta-aidare ®1 gidure e ? 1
(A) Biftey X (B) WA
(C) & (D) R
Who proposed the concept of Neo-determinism ?
(A) Griffith Taylor (B) Blache
(C) Huntington (D) Ritter
3. Frefaiad § | SF-91 U foRa Saer am & 787 ¢ ¢ 1
(A) TR (B) HEAEE Yaq
(C) afRrr-gd ufRrr (D) gdF Jast
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Region
(C) South-East Asia (D) Polar Regions
4. IR Fia & G99 fawa saen B 8 ? 1
() 30 %3 (B) 40 &g
(©) 55%3 (D) 60 #s
What was world-population at the time of Industrial Revolution ?
(A) 30 Crore (B) 40 Crore
(C) 55 Crore (D) 60 Crore

5613/(Set : A)/ Il



(3) 5613/(Set : A)

5. Frfafad d @ SF-d e Saen & HEda g av & e B o ¢ 1
(A) 15® 659 (B) 15% 66 a4
(C) 159 64 a9 (D) 159 59 a9

Which one of the following figures represents the working age group of the
population ?

(A) 15 to 65 years (B) 15 to 66 years
(C) 15 to 64 years (D) 15 to 59 years
6. =i § @-91 39 == Aa R a7 § 7 1
(4) T (B) ST
(C)  SHH (D)
Which one of the following is not a country with high human development ?
(A) Norway (B) Argentina
(C) Japan (D) Egypt
7. FE H FN HEAR 8 1
(&) =H BT (B) @ B
(C) P (D) g
Growing of flowers is called :
(A) Truck farming (B) Factory Farming
(C) Mixed Farming (D) Floriculture
8. = & § &-91 3N & THR H b AdT AaaiRes T9e &R 6 @ ? 1
(A) Bl (B) SR
(€) Ffer (D) qwT F

Which one of the following types of cultivation was developed by European
colonists ?

(A) Kolkoz (B) Viticulture
(C) Mixed Farming (D) Plantation

5613/(Set : A)/ I P.T.O.



(4) 5613/(Set : A)

9. ffaRad # & B-81 T JaE Bhaead & 7 1

(&) & (B) I
(©) =R (D) emEe
Which one of the following is a tertiary activity ?
(A) Farming (B) Weaving
(C) Trading (D) Hunting

10. = & @ fh9 &R %1 SRaal ds%, T4 a1 ToX & fFIR e ¢ 7 1
(A)  FAER (B) = T
(C) = (D) &R

Which one of the following forms of settlement develops along either side of
roads, rivers or canals ?

(A) Circular (B) Cross-shaped
(C) Linear (D) Square

11. fopradic 39T i SEEn & A o & [Gee 0@ Sawdsden & g § HH-8 JER
% TEE e § 7 1
(a) foxi (B) HFd™
(C) s (D) |

Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?

(A) Financial (B) Human
(C) Natural (D) Social
12. Frefafad § @ S9-91 0F 99 9Rd § Remed aoE §9e @ 1
(A)  #A-fereseh (B) iR
(€) =i ot (D) s
Which one of the following is the largest language group of India ?
(A) Sino-Tibetan (B) Austric
(C) Indo-Aryan (D) Dravidian

5613/(Set : A)/ Il



(5) 5613/(Set : A)
13. 9T & Fr=tfomead =i § § 9 T § 0- 6 g & & == 7 [ argu feiam 8 7 1

(A) TR (B) ST
(C) = (D) fu=d JasT
Which one of the following States of India has the lowest child sex ratio O — 6
years ?
(A) Gujarat (B) Punjab
(C) Haryana (D) Himachal Pradesh
14. Frefafad 3§ @ &9-81 TR 98 9 W faRed 78 & ? 1
(A) ST (B) T
(C) s (D)  HIcbrl
Which one of the following towns is not situated along the bank of the river ?
(A) Agra (B) Patna
(C) Bhopal (D) Kolkata
15. Ffaied & § oo fhd TR & @6 © 7 1
(A) ST GEEN (B) g HEme
(C) STTdIhYUIg HHE (D) =RhIA GHE
Which one of the following types describes water as a resource ?
(A) Abiotic resource (B) Biotic resource
(C) Non-renewable resources (D) Cyclic resource
16. fiaiead § & 60 M 9 Uedl WA Sl R wiiud 6 @ o ? 1
(A) eI (B) T
(C) darge (D) 9 ¥dM9 9
On which station out of the following, the First Atomic Station was set up ?
(A) Kalpakkam (B) Narora
(C) Tarapur (D) Rana Pratap Sagar

5613/(Set : A)/ I P.T.O.



17.

18.

19.

(6) 5613/(Set

3o o Fo o e & & fohq daxf & affg & ?
(A) THET e e g

(B) HHaq S e S

(C) THiad I fererd SR

(D) i~ Ree faewrd Jom

I. T. D. P. refers to which one of the following ?

(A) Integrated Tourism Development Programme
(B) Integrated Tribal Development Programme
(C) Integrated Travel Development Programme

(D) Integrated Transport Development Programme

T 2001 H STFOF % AR, ARG H e Ffrad § § dH-81 & 7
(A) 102.8 F$

(B) 318.2 F$
(C) 328.7 &g
(D) 2 &g

India's population as per 2001 census is :
(A) 102.8 Crore
(B) 318.2 Crore
(C) 328.7 Crore

(D) 2 Crore

HIF-81 FR fafwg & affrd 787 e ?

(A) &MU (B) GR@ed

(C) ®aOR (D)
Which factor is not included in exchange ?

(A) Trade (B) Transport
(C) Communication (D) Salaries

5613/(Set : A)/ Il

: A)



(7) 5613/(Set : A)

20. 3 FM fFH I= RO R &R e F=9T FAlI Bl 8, FBA © 1
(A) f&dEs hamhemd (B) =gy Frarharg
(C) 9™ Bramehea (D) Y= feharha
Jobs that involve high degrees and level of Innovations are known as :
(A) Secondary activities (B) Quaternary activities
(C) Primary activities (D) Quinary activities
21. 5 T § 7O Y@ @ A A e ot © 7 1
(A) TR (B) fe=r
(C) S (D) A& U
Which State has the highest percentage of people below poverty line ?
(A) Assam (B) Bihar
(C) Odisha (D) Madhya Pradesh
22. FHA-G TR TH YAHEH TR & ? 1
(A) @ (B) dRIoTE
(C) T (D) MR

Which is an administrative town ?

(A) Surat (B) Varanasi
(C) Karnal (D) Gandhinagar
23. fHige i & am e = & Rafy B ? 1
() fer (B) ohfeam
(C) TGS (D) EXIEG

In which State is Kiriburu mine located ?
(A) Bihar (B) Odisha
(C) Jharkhand (D) Chhattisgarh

5613/(Set : A)/ I P.T.O.



24.

25.

26.

27.

28.

29.

30.

(8) 5613/(Set

TOR | de9 offie sae ghs X fhe #erE § & 7
Which Continent has the highest growth rate of population in the World ?

qaiias R e dee | Heftd § ?

To which sector do tertiary activities are related ?

fgea & 999 Sife SMEE a TR -9 © 7
Which is the largest populated town of the World ?

AT eell QU1 SIOET 9 &3 7

When was the first complete census held in India ?

s g wate frelt & 9m o

Name any two primary activities.

R 5 @t @ e R ?

To which category of activities does Trade belong ?

HIF-G1 @ G ERY % AW § ST S © 7

Which mineral is called 'Brown Diamond'.

5613/(Set : A)/ Il
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CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2021
Roll No. SET : B

T

GEOGRAPHY
HT-1
PART -1
(sTrfs o)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

ge-o & AF & Rl R A (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qur qE-1L % e ol @ uw €2 @ Wy A Sen srafg wher we
BN T geT qd qdemel St w11 & g9eE-us Rar smem

-1 % 999-99 § F 10 U T 9FHII & T¥-T § FA 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B AL % 5 9799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.

5613/(Set : B)/ | P.T.O.




(2) 5613/(Set : B)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5613/(Set : B)/ |



(3) 5613/(Set : B)

1. Taq Q9T e $ GhedT Sl IReNa H] 2

Define the concept of sustainable development.

2. Ted R ? 2

What is Tourism ?

3. ‘T forg aRaar @@ § ? 2

What are 'wet point settlements' ?

4. SEET gfs R fRY FRd § 7 2

What is growth rate of population ?

5. HE Holl 1 8 ! R & T@ A0 ol el & A9 | 3
What is Nuclear Power ? Mention the important nuclear power stations in
India.

6. HMd & UTHHOT &l HREAT HifoT| 3

Explain Naturalization of Humans.

7. 979 & 9 oo § faena amir SHEEn ® 7 ganl fasne I SeeEen & e Sakert
0% HRI A [T 3

Which States have large rural population in India ? Give one reason for such
large rural population.

8. IRET TR F B & ? 9H 991 HE & B 7 3

What are Garrison towns ? What is their function ?

5613/(Set : B)/ | P.T.O.



(4) 5613/(Set : B)

9. HRA % TS g9 Hl TH-ET AT HI| 5
Analyse State-wise population density of India.
YT
OR
AT % [T 9T GRaRT & sirmfers faaeeT &1 faaser S

Describe the geographical distribution of different language families in India.

10. Sifhehid HhHOT e bl @7 STaeat i fader aifom 5
Describe three stages of Demographic Transition Theory ?
AYAT
OR
AE faehE & ¢ & H IETeROl Higd v it

Describe the four Pillars of Human Development with examples ?

5613/(Set : B)/ |



CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2021

Roll No. SET : B

T

GEOGRAPHY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ol A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT TG F T [ G F 3 Je7-9 § FRT §T 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 §U T 7el 8, YT F YU 39
T 7 g o qar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aart &

All questions are compulsory.

5613/(Set : B)/ I P.T.O.



(2) 5613/(Set : B)

(i) Fo7 F@T 1 & 23 % FGEBHAT F97 81 RT TG AT T § @ g &l Fav g

797 G 24 @ 30 7% TGS F97 & JE9% F IAT 9% T @ A= T TF
g g% 997 1 3% & &1 el FT YA Fav-Yikrm [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in

your answer-book.

1. fhEd Ta-Fafaar & gfqaes e ? 1
(A) BifteT I (B) ReX
(C) = (D) &fdres
Who proposed the concept of Neo-determinism ?
(A) Griffith Taylor (B) Ritter
(C) Blache (D) Huntington
2. IUGET ZT H 6 IUMH BT HWE T F G A T P 1
(A) &g gTed (B) WM fagereer
(C) & faRr=Tar (D) RIS
Which approach of Human Geography was followed in colonial period ?
(A) Spatial organisation (B) Regional analysis
(C) Areal differentiation (D) Behavioural
3. I=A 4 guhih B W A8 ? 1
(A) 0.6 § I (B) 0.7 § IW
(C) 0.9 § W (D) 0.8 § W
What is the score of high development index ?
(A) Above 0.6 (B) Above 0.7
(C) Above 0.9 (D) Above 0.8

5613/(Set : B)/ Il



(3) 5613/(Set : B)

4. 59 WEIE § SMEE gie X daiE 8 7 1
() R (B) SThIH
(C) I (D) effegferan
Which continent has the highest growth rate of population ?
(A) Asia (B) Africa
(C) Europe (D) Australia
5. frfafad & & $F-91 0 foxa sween e &5 787 8 7 1
(A) ST (B) qHEREE e
(C) sRerT-gdi Rmn (D) gdE Sas
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Regions
(C) South-East Asia (D) Polar Regions
6. f=ifeiad d & Hi9-a1 g & waraq au 8 ? 1
(A) TR ¥ & (B) TN ¥ geTcHsh UReacH
(C) R H Rear (D) TN & @rERe gRads
Which one of the following best describes development ?
(A) An increase in size (B) A positive change in quality
(C) A constant in size (D) A simple change in the quality
7. W= A @ F9-9 &9 B 7@ o ? 1
() =T P (B) f3rr iy
(C) T B (D) afer STt F
Which one of the following does not follow monoculture ?
(A) Diary farming (B) Mixed farming
(C) Plantation agriculture (D) Commercial grain farming

5613/(Set : B)/ I P.T.O.



(4) 5613/(Set : B)

8. Ta® Fhameey fFd PRE W MR & ? 1
(A)  FE (B) AU
(©) wFd (D) S
Tertiary activities depend on :
(A) Skill (B) Machinery
(C) Factory (D) Production

9. 3Rl sMRe # waifie SEE ai TR HH-91 & 7 1
A) -9 (B) =TH €
() ¥Herd (D) Al TRl
Which is the most populated town of South America ?
(A) Rio-de-Janerio (B) Buenos Aires
(C) Santos (D) Sao Paulo

10. 9RG ¥ fHl B e, &l fohael SMEe Bl =Ry ? 1

(A) 3000 (B) 4000
(C) 5000 (D) 6000

What is the population of an urban town in India ?

(A) 3000 (B) 4000
(C) 5000 (D) 6000

11. fompradie 3T A SaEn & qEs o & famm Td srasadsdel & i § -9 FE
% TN Hedd § 7 1
A) fo (B) HMAY
(C) s (D) HmHIRS

Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?

(A) Financial (B) Human
(C) Natural (D) Social

5613/(Set : B)/ Il



(5) 5613/(Set : B)
12. TG M gadi® (2005) % ded 7 fawg & 3 § 9Ra & Feflfad & § - e

off ? ]
(A) 126 (B) 128
(C) 127 (D) 129

Which one of the following is India's rank in terms of Human Development
among the countries of the world in 2005 ?

(A) 126 (B) 128
(C) 127 (D) 129
13. 9Xd & Fr=ifoiad &= anfaa sest & & fhe o & qeRa & Ieaaq ¢ ¢ 1
(A) eI (B) T &R g9
(C) TSNS (D) SrvEHN R R g
Which one of the following Union Territories of India has the highest literacy
rate ?
(A) Lakshadweep (B) Daman and Diu
(C) Chandigarh (D) Andaman and Nicobar Islands
14. R H Ugal QOf SRIOAT % g3 7 1
(A) 1871 (B) 1891
(C) 1901 (D) 1881

When was the first complete census held in India ?

(A) 1871 (B) 1891
(C) 1901 (D) 1881
15. 9RA & %9 U9 § ge9 A Seed 99 © 7 1
(a) Brga (B) HaRHE
(C) TfrrH (D) STEIEA oS
Which state has lowest Density of Population in India ?
(A) Tripura (B) Meghalaya
(C) Sikkim (D) Arunachal Pradesh

5613/(Set : B)/ I P.T.O.



(6) 5613/(Set : B)

16. f=ifed & @ H9-81 TR 98 ¢ | Fared 787 & ° 1
(A) ST (B) Yo
(C) U (D)  eicTehre
Which one of the following towns is not situated along the bank of a river ?
(A) Agra (B) Patna
(C) Bhopal (D) Kolkata
17. B9 X Ae-oiige! T g ot § feg & ? 1
(A) W (B) e
(©) g (D) fry
In which valley were Harappa and Mohanjodaro towns located ?
(A) Ganga (B) Narmada
(C) Brahmaputra (D) Indus
18. 9T # i e TR 8 ? 1
(A) S (B) gRIoTEl
(©) I (D) FEE
Which is the most ancient town in India ?
(A) Agra (B) Varanasi
(C) Chennai (D) Hyderabad
19. Y& H TR fbae O A0 ST § T § 7 1
(A) 61% B) 71%
(C) 81% (D) 91%

How much-part of earth is covered with water ?
(A) 61% B) 71%
(C) 81% D) 91%

5613/(Set : B)/ Il



20.

21.

22.

23.

(7) 5613/(Set : B)

fretfeied & | -6 @S G0 ERC & TH q S S 6 7 1

(A) e (B) H

(C) freEe (D) ¥®

Out of the following which mineral is called 'Brown diamond' ?

(A) Iron ore (B) Manganese

(C) Lignite (D) Mica

Frefafad § 9 6 WM 0T Bl [RAY] Sl WA wid o @ o ? 1

(A)  DeTIFRH (B) °M 49 X

(C) T (D) TRIYY

On which station out of the following, the first atomic station was set-up ?

(A) Kalpakkam (B) Rana Pratap Sagar

(C) Narora (D) Tarapur

sifefor &1 fF SR &1 See R & 7 1

(A) faegd B) fer

(C) =r8HM (D) FTHS

Which type of age-sex pyramid is of Australia ?

(A) Expanding (B) Constant

(C) Declining (D) Negative

@ﬁﬁww%&ﬁwﬁﬁqﬁw%mﬁﬁﬁaﬁ?—mmwﬁm
! 1

(A) UReed faeE (B) &N faera

(C) uiREd feepra (D) g% IUELH

Which one of the following is the most crucial factor for sustainable
development in Indira Gandhi Canal Command Area ?

(A) Transport development (B) Agricultural development

(C) Eco-development (D) Colonisation of land

5613/(Set : B)/ I P.T.O.



(8) 5613/(Set : B)
24. GIF T Y A G Ufcde H TET o ? 1

When did United Nations published its first Human Development Report ?

25. qRd & fd W9 § A5 HGE AE § ? 1

Which state has the highest number of Buddhists ?

26. G ¥ HN-91 99 999 s I &R e St 2 7 1

Which language is spoken by most of people in India ?

27. 1930-1950 & I # A TN 7 HF-8 I JAT Ry 1 ? 1
What were the approaches used in Human Geography in 1930-1950 period ?

28. SUM % HIF-AT ANEH Y39 &1 §91 2 7 1

Which Industrial Region of Japan is densely populated ?

29. (g A ¥ Fehel UK THA Dl FTERI TKT bl ? 1

Which Country introduced Gross National Happiness ?

30. Hgs de & @M e T § Rad & 7 1

In which State is Kiriburu mine located ?

5613/(Set : B)/ Il
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T

GEOGRAPHY
HT-1
PART -1
(sTrfs o)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 60 (AFT-1 : 30, AFI-II : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

ge-o & AF & Rl R A (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qur qE-1L % e ol @ uw €2 @ Wy A Sen srafg wher we
BN T geT qd qdemel St w11 & g9eE-us Rar smem

-1 % 999-99 § F 10 U T 9FHII & T¥-T § FA 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B AL % 5 9799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.

5613/(Set : C)/ | P.T.O.




(2) 5613/(Set : C)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5613/(Set : C)/ |
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1. SHern gis & P8 Fed § ° 2

What is growth rate of population ?

2. HAd N9Ng [Ihd H GhedT Sl RN B 2

Define the concept of sustainable development.

3. W dAg? 2

What is Tourism ?

4. T fog afear @@ 8 ? 2

What are 'wet point settlements' ?

5. IRET TR F1 B T ? IR FT HE B 8 7 3

What are Garrison towns ? What is their function ?

6. D ol 1 2 ? WRA & TG A ol el @ AW | 3
What is Nuclear Power ? Mention the important nuclear power stations in
India.

7. | ® JTHHOT S ARAT HifoT 3

Explain Naturalization of Humans.

8. 9YRd & [ woul H fasna mior SHEE ® ? ganl fasne I SeEen & e Saet
0% HRI A [y 3

Which States have large rural population in India ? Give one reason for such
large rural population.

5613/(Set : C)/ | P.T.O.



(4) 5613/(Set : C)

9. HHq [ & &7 &l B IR Aled qU FHiT 5
Describe the four Pillars of Human Development with examples ?
AYAT
OR
STifehehid Th G @l &7 SRS Hl fGae Sl

Describe three stages of Demographic Transition Theory ?

10. 9T & R o1 aRaRt & A R & ferer ff) 5
Describe the geographical distribution of different language families in India.
AYAT
OR
AT ol TS T bl ToF-E0E [T i)

Analyse State-wise population density of India.

5613/(Set : C)/ |
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o FUT TG F T [ G F 3 Je7-9 § FRT §T 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 §U T 7el 8, YT F YU 39
T 7 g o qar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aart &

All questions are compulsory.

5613/(Set : C)/ I P.T.O.
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(i) o7 F@T 1 & 23 7% FGABHAT F97 81 RT T AT T § @ g% @l Fav g

797 GEr 24 G 30 7% aegiTS Fo7 81 J9% # AT GF AT & A= T AF H
dforg1 9% 797 1 3% T 81 §el FAT AU Fae-gréaw 4 [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in
your answer-book.

1. fFrfafed & | S9-81 06 J9d A & ST 78 & 7 1
(A) &= A (B) HETH® I
(C) wnis e (D) 3TN &R Ui
Which one of the following is not an approach in Human Geography ?
(A) Areal differentiation (B) Quantitative revolution
(C) Spatial organisation (D) Exploration & description
2. HAIGS 9 I $ e Susmer § @&t B ? 1
(A) HEISTER T (B) THIE 9
(C) oniis et (D) ST
To which field of Human Geography does Psychology belong ?
(A) Social Geography (B) Urban Geography
(C) Economic Geography (D) Population Geography
3. [5g & =9 aifu® e ard ol § fasq SHee & A gfad 9§ ? 1
(A) 50% (B) 60%
(C) 70% (D) 80%
The ten most populated countries have World Population :
(A) 50% B) 60%
(C) 70% (D) 80%
4. fasg ¥ waie SEE aen a9 HE-91 © 7 1
(A)  9Rd (B) @
(C) =M (D) S
Which is the most Populated Country ?
(A) India (B) Russia
(C) China (D) Germany

5613/(Set : C)/ Il



(3) 5613/(Set : C)

5. 5 werdy # fefmgu &5 8 ? 1
(A) I (B) aifeferan
(C) Sad emfRe (D) TR
In which Continent, low sex ratio is found ?
(A) Europe (B) Australia
(C) North America (D) Asia
6. HMA faH™ & HH-41 9 g 78 & 7 1
(A) Rl T UEa (B) STH @R
(C) famm (D) & o
Which is not a key area of human development ?
(A) Access to resources (B) Good health
(C) Education (D) Industrial development
7. HN-H1 Y AME (o e § v § ed ®H W e 7 1
(A)  sfrEfer (B) el
© (D) SR
Which country ranks first in world in Human Development Index ?
(A) Australia (B) Canada
(C) Norway (D) Germany
8. frfoied & & Frem 99 oRE oM & R orgum & T foam & 7 1

(A) T5Y HRL SEEA H b A
(B) Y&W *l I= SH &
(C) Tl & fr= ot &Y
(D) el @1 S== Ia™

5613/(Set : C)/ I P.T.O.
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Which one of the following has caused the sex ratio of United Arab Emirate to
be low ?

(A) Selective migration of male working population
(B) High birth rates of males
(C) Low birth rates of females

(D) High out migration of females

9. frfiiad & & fpe werEy # SeeE ghs |aifs & ? 1

(A)  STHIH (B) ufsmm
(C) ferer STHfER (D) A STHRH
Which one of the following continents has the highest growth of population ?
(A) Africa (B) Asia
(C) South America (D) North America

10. frifefad & | H-a1 U Qi gad & 9d 78§ 7 1
(A) AT B fFER (B) Y= HMeH
(C) T=H & FCerl Tl & T (D) YN HerheA

Which one of the following is not a source of Geographical Information ?
(A) Travellers accounts

(B) Old maps

(C) Samples of rock materials from the moon

(D) Ancient epics

11. F=1 9 9 -9 AU %6 787§ 7 1
(A) il (B) =T
©) (D) S
Which one of the following is not a plantation crop ?
(A) Coffee (B) Sugarcane
(C) Wheat (D) Rubber

5613/(Set : C)/ Il
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12. Fr=fafad § @ sF-a1 Bharkay agd 89 8 a=fad & 7 1
(A) ETorh fafE (B) fesafeemes stemgs
(C) FFW SR el el fFHfer (D) J&FH & J&o

Which one of the following activities is related to quarternary sector ?
(A) Manufacturing Computers (B) University Teaching

(C) Paper and Raw Pulp Production (D) Printing Activities

13. 2006 % U9 § 9Rq ¥ fohaq e & 9 7 1
(A) 40 (B) 41
(C) 42 (D) 43

How many of the following Cities in India have attained the million status at
the beginning of 2006 ?

(A) 40 B) 41
(C) 42 (D) 43
14. -9 S« gfoey 92 & |1 e @ ? 1
(A) STEEER (B) Pyt
() a® (D) TR &% AR
Which settlement pattern is found along coasts ?
(A) Rectangular (B) Triangular
(C) Linear (D) Star like
15. faea d waifes Saedn ar TR SHH-91 ¢ 7 1
(A) Hfer (B) 2l
(©) & (D) T=&
Which town has the largest population in the World ?
(A) Mexico City (B) Tokyo
(C) London (D) Mumbai

5613/(Set : C)/ I P.T.O.
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16. 9T & Fr=Afciad dHessmiee gesn § & Fhe T &l SeRd e =¥ & ¢ 1
(A) TerE (B) & AR 24
(C) TSNS (D) SrvEHN &R R g
Which one of the following Union Territories of India has the highest literacy
rate ?
(A) Lakshadweep (B) Daman and Diu
(C) Chandigarh (D) Andaman and Nicobar Islands

17. Frefafad & @ HH-91 06 T8 9RA § a9y 9wE 99 § ? 1
(A) = fereet (B) S
(©) = o (D) =g
Which one of the following is the largest language group of India ?
(A) Sino Tibetan (B) Austric
(C) Indo-Aryan (D) Dravidian

18. AMY [ Tohi® § 9RG & Frarad T 8 58 0 i Fifc I=wH o ? 1
(A) dEeTg (B)
(C) T (D) &Raren

Which one of the following States of India has the highest rank in the Human
Development Index ?

(A) Tamil Nadu (B) Kerala
(C) Punjab (D) Haryana
19. Soig femt # f6d yeR @ i fad 7 1
(a) e (B) ore-qfEd
() il (D) RfEr
Which types of settlements are found in alluvial plains ?
(A) Clustered (B) Semi Clustered
(C) Hamleted (D) Dispersed

5613/(Set : C)/ Il
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20. Fr=foRad & § TR & HH-91 & A TEIFHH & ATAR HASS © ¢ 1
(A) Foq T, R, HiHA, Ag (B) Rell, ged =@, A=13, Bl
(C) icTbrd, & s, A1y, facal (D) Ted g3, Hicibr, e, I3

Which one of the following group of cities have been arranged in the sequence
of their ranks ?

(A) Greater Mumbai, Bengaluru, Kolkata, Chennai
(B) Delhi, Greater Mumbai, Chennai, Kolkata
(C) Kolkata, Greater Mumbai, Chennai, Delhi
(D) Greater Mumbai, Kolkata, Delhi, Chennai

21. ffafed § § o9 B J6R & dee § 7 1
(A) ST GEEN (B) g Hemew
(C) R FHTE (D) =RbIA GHE
Which one of the following types describes water as a resource ?
(A) Abiotic resource (B) Biotic resource
(C) Non-renewable resource (D) Cyclic resource
22. 9Rd ¥ fag & @ daEE @ fhaw ufqed 9 B 7 1
(A) 1% B) 2%
(C) 3% (D) 4%
What is the share of India in worlds water resources ?
(A) 1% (B) 2%
(C) 3% (D) 4%
23. Frefaied & & fh o9 § 9@ dq & R 8 7 1
(A) otEH (B) T
(©) feR (D) g
Which out of the following states has major oil fields ?
(A) Assam (B) Rajasthan
(C) Bihar (D) Tamil Nadu

5613/(Set : C)/ I P.T.O.
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25.

26.

27.

28.

29.

30.

(8) 5613/(Set : C)

4 e T M g e ol ?

Who wrote the book 'The Limit to Growth' ?

IRG & 59 9 § A5 waer ftes & ?

Which state has the highest number of Buddhists ?

WA wed o fomge e e J R 7

Which state has the highest sex ratio in India ?

HYHI TSE A H GAgeH A foebre gfdae gegd e ?

When did United Nations published its first Human Development Report ?

I TR F 999 98 TR &l AW iRl

Name the largest Metropolitan City of Uttar Pradesh.

Zfeithes U= 1 o1 4 B ?

What does word Idiographic mean ?

YT ¥ Tl THed T -1 § 7

Which is the most urbanized state of India ?

5613/(Set : C)/ Il
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ge-o & AF & Rl R A (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qur qE-1L % e ol @ uw €2 @ Wy A Sen srafg wher we
BN T geT qd qdemel St w11 & g9eE-us Rar smem

-1 % 999-99 § F 10 U T 9FHII & T¥-T § FA 30 U 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B AL % 5 9799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.

5613/(Set : D)/ | P.T.O.




(2) 5613/(Set : D)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgr T To FIT-UA T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT SAvar &

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5613/(Set : D)/ |



(3) 5613/(Set : D)
1. 9 forg aRaar @@ § ? 2

What are 'wet point settlements' ?

2. SEEN gha X fRY Fed ©§ 7 2

What is growth rate of population ?

3. T T9olg e # GhedT Sl IRAING B 2

Define the concept of sustainable development.

4, eI AR ? 2

What is Tourism ?

5. 9 & [ woal & fasna aedior SeEen ® ? saet foue g Seeen & o S
g% ®RT &l [T 3

Which States have large rural population in India ? Give one reason for such
large rural population.

6. IRET TR F1 B & ? 9k 91 HE & B 7 3

What are Garrison towns ? What is their function ?

7. TG ST 2 P ARG & TG AN S el @ AW | 3
What is Nuclear Power ? Mention the important nuclear power stations in
India.

8. HMd % UIHHOT &l HREAT HifoT| 3

Explain Naturalization of Humans.

5613/(Set : D)/ | P.T.O.
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9. HRA % TS g9 Hl TH-ET AT HI| 5
Analyse State-wise population density of India.
YT
OR
AT % [T 9T GRaRT & sirmfers faaeeT &1 faaser S

Describe the geographical distribution of different language families in India.

10. SHifhehid HhHOT e bl @7 STaenat i fader aifom 5
Describe three stages of Demographic Transition Theory ?
AYAT
OR
UE faehE & ¢ & Hl IETeX0 |igd duie i

Describe the four Pillars of Human Development with examples ?

5613/(Set : D)/ |
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o FUT TG F T [ G F 3 Je7-9 § FRT §T 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 §U T 7el 8, YT F YU 39
T 7 g o qar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aart &

All questions are compulsory.

5613/(Set : D)/ I P.T.O.



(2) 5613/(Set : D)

(i) Fo7 F@T 1 & 23 % FGEBHAT F97 81 RT TG AT T § @ g &l Fav g

797 G 24 @ 30 7% TGS F97 & JE9% F IAT 9% T @ A= T TF
g g% 997 1 3% & &1 el FT YA Fav-Yikrm [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in

your answer-book.

1. 79 & 9 3-8 d $Y 78 o 7 1
(a) ST P (B) i3 iy
(C) T Py (D) AT ST P
Which one of the following does not follow monoculture ?
(A) Diary farming (B) Mixed farming
(C) Plantation agriculture (D) Commercial grain farming
2. Tad frameay fFe R W AR § 7 1
(A)  HIIICT (B) #M
(©) wd (D) S
Tertiary activities depend on :
(A) Skill (B) Machinery
(C) Factory (D) Production
3. ROl oWRe § waiyd SEE gl TR DHA-91 & ¢ 1
A) RA-T-s=Q (B) AH EE
() ¥Herd (D) WA drt
Which is the most populated town of South America ?
(A) Rio-de-Janerio (B) Buenos Aires
(C) Santos (D) Sao Paulo

5613/(Set : D)/ 1l
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4. IR ¥ el qel H, B el SEEn Bl ey ? 1
(A) 3000 (B) 4000
(C) 5000 (D) 6000
What is the population of an urban town in India ?
(A) 3000 (B) 4000
(C) 5000 (D) 6000

5. fopmasha st @ SHeen & amie e & fawm wd sTasaddnst @ it # -8 TR
% T RS o 7 1
(A) fi= (B) A
(C) Ml (D) WIS

Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?

(A) Financial (B) Human
(C) Natural (D) Social

6. Ad o gEH® (2005) & ded § fzg % AW § 9Ra @ Ffeiad & § w-9 Fie
7 1
(A) 126 (B) 128
(C) 127 (D) 129

Which one of the following is India's rank in terms of Human Development
among the countries of the world in 2005 ?

(A) 126 B) 128
(C) 127 (D) 129
7. [ T9-fEiEmE & gl 6 ? 1

(A) TBifteT I (B) ReX

(C) = (D) &fdres

Who proposed the concept of Neo-determinism ?

(A) Griffith Taylor (B) Ritter

(C) Blache (D) Huntington

5613/(Set : D)/ I P.T.O.
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8. TUNAY T H fE IUMH BT HWE O F FIANT {4y ? 1
(A) &g e (B) i fasawor
(C) &= fafrar (D) =TEIN®
Which approach of Human Geography was followed in colonial period ?
(A) Spatial organisation (B) Regional analysis
(C) Areal differentiation (D) Behavioural
9. I M gadi® & @I 1 8 1
(A) 0.6 § W (B) 0.7 § W
(C) 0.9 § W (D) 0.8 § W

What is the score of high development index ?

(A) Above 0.6 (B) Above 0.7
(C) Above 0.9 (D) Above 0.8
10. fFH WRIEN # SHer gfs ) |t © 7 1
(A) Tl (B) SThIH
(© Zu (D) srefr
Which continent has the highest growth rate of population ?
(A) Asia (B) Africa
(C) Europe (D) Australia
11. Fr=fafad § @ -1 06 fRa S a8 78 ¢ ¢ 1
(A)  STETRMT (B) HERENY Yaq
(C) aRrer-gat uiRmE (D) A Foa
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Regions
(C) South-East Asia (D) Polar Regions

5613/(Set : D)/ 1l



12.

13.

14.

15.

16.

5613/(Set : D)/ I

(5) 5613/(Set : D)

=g & @ ®F-a1 faee @1 9aag 9o & °?

(A) TR ¥ & (B) TN ¥ g UReacH

(C) R F Rerar (D) IO # |rEmer gfec
Which one of the following best describes development ?

(A) An increase in size (B) A positive change in quality
(C) A constant in size (D) A simple change in the quality
fretfeiied & | $F-61 Th 7 T H IJUFH 78 8 7

(A) &= A (B) HETH® I

(C) wnis e (D) 3TN &R Ui

Which one of the following is not an approach in Human Geography ?
(A) Areal differentiation (B) Quantitative revolution
(C) Spatial organisation (D) Exploration & description
TS A T e Susimen § Hed © 7

(A) EHEISTE T (B) THIE T

(C) ik st (D) SFEE T

To which field of Human Geography does Psychology belong ?

(A) Social Geography (B) Urban Geography

(C) Economic Geography (D) Population Geography
fosm & 0 Haife SHeE a3l 7 fgg Seen & fhan giied A9w 8 ?
(A) 50% B) 60%

(C) 70% (D) 80%

The ten most populated countries have World Population :

(A) 50% B) 60%

(C) 70% (D) 80%

foea # waiftes SeeAr a a9 HE-a1 § 7

(A) ¥4 B) w4

(C) =@ (D) SR

Which is the most Populated Country ?

(A) India (B) Russia

(C) China (D) Germany

1
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17.

18.

19.

20.

(6) 5613/(Set :

o werEly & g &9 B 7

(A) (B) siegfemn
(C) I AR (D) TR

In which Continent, low sex ratio is found ?

(A) Europe (B) Australia
(C) North America (D) Asia

qMe famE & B-a gd fag 78§ 7

(A) el T% qed (B) W W@ReA

(C) famm (D) & o

Which is not a key area of human development ?

(A) Access to resources (B) Good health

(C) Education (D) Industrial development

PIF-T1 39 A [ gk 7 fsg § vew @M W B 7

(4)  SEf (B) FwT

© (D) ST

Which country ranks first in world in Human Development Index ?
(A) Australia (B) Canada

(C) Norway (D) Germany

frefofaa & & frem d@ge org ofiia & o ergua &1 T fean B 7
(A) 959 HrElic SHEA H AT A

(B) g&uI &l I==F S &
(C) Tl & 1 s X
(D) el @1 S=a Ia™

5613/(Set : D)/ 1l
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Which one of the following has caused the sex ratio of United Arab Emirate to
be low ?

(A) Selective migration of male working population
(B) High birth rates of males
(C) Low birth rates of females

(D) High out migration of females

21. Fr=farea & & 60 weE & sHae s aiis § 7 1
(A)  STBRR (B) i
(C) ferer STHfER (D) A STHRH
Which one of the following continents has the highest growth of population ?
(A) Africa (B) Asia
(C) South America (D) North America

22. Frefaied & @ S9-91 Th qRiess g & A 78 ° 1
(A) AT B fFER (B) Y= HMeH
(C) o= & FCerl Tl & T (D) YN HerheA

Which one of the following is not a source of Geographical Information ?
(A) Travellers accounts

(B) Old maps

(C) Samples of rock materials from the moon

(D) Ancient epics

23. &= § § -4 A1 HEd 78 © ¢ 1
(A) il (B) =T
©) (D) S
Which one of the following is not a plantation crop ?
(A) Coffee (B) Sugarcane
(C) Wheat (D) Rubber
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25.

26.

27.

28.

29.

30.

(8) 5613/(Set :

qRd & HF-Hl 997 999 IfeE @ g Sl S ® 7

Which language is spoken by most of people in India ?

SN T HIF-G1 SN Jo9 891 997 & °

Which Industrial Region of Japan is densely populated ?

frlige iR il @ e T | fed B 7

In which State is Kiriburu mine located ?

YT ¥ Tl THea 9 -9 § 7

Which is the most urbanized state of India ?
WA wed o fomge e e § R 7

Which state has the highest sex ratio in India ?

4 e T M g fhee o ?
Who wrote the book 'The Limit to Growth' ?

I TR & 999 98 TR &l A Rl

Name the largest Metropolitan City of Uttar Pradesh.
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